QID : 1 - In the following question, select the related word pair from the given alternatives.
Power:Watt::7:7?
fefefad oy 4 g g et 4 9 gafdq e g @t 9RT

Folt:die::?:?

Options:

1) Pressure : Newton
aldl : <

2) Force : Pascal

el ;| UT¥ched

3) Resistance : Mho
uferte : At

4) Work : Joule

T : el

Correct Answer: Work : Joule
T - [



QID : 32 - Which planet is considered as the Dwarf planet?

feher wg &t ST U |1 ST 87

Options:
1) Earth

gt

2) Jupiter
Jgeid

3) Pluto

et

4) Saturn
e

Correct Answer: Pluto

et




QID : 36 - Which of the following instrument is used to measure Soil Water Tension?

e ST dfTd AT e folg T fehdt ST et 41 et o gl STl 7

Options:

1) Photometer
UehT2THTHT

2) Pyrometer
SATOETAd

3) Psychrometer

rSchTes ATHTH T

4) Tensiometer

Tt

Correct Answer: lensiomater

Tt




QID : 37 - What is the S| unit of Force?

a1 hl T 378 HTdch /T &7

Options:
1) Pascal
UT+hel

2) Boyle
e

3) Newton

=Ie
42 Watt
=1 =

Correct Answer: Newton

e



QID : 38 - Which one of the following is a bad Thermal Conductor?

fFrfeifad 4 & @l a1 ve g Swr ulrde 8?

Options:
1) Aluminium

T

2) Copper

GIE

3) Glass
gftam

4) Silver
Gl

Correct Answer: Glass

aftam



QID : 44 - Who invented first working laser?
gaedcil @hlH ch<a dTell oat< ahl 3TasehZ e Sear 2m?

Options:
1) A. H. Taylor
Q. g9, deiR

2) W. K. Roentgen
E&d], eh. el

3) T. H. Maiman
M fran

4) Fred Morrission

ﬁ-EHTﬁTFFI

Correct Answer: T. H. Maiman
21 ug. 8u9q



QID : 137 - What is the minimum distance (in metres) required to hear an echo?

S 7 [0 Y il (e H) oo 8 ie?

Options:
1) 10
2) 13

3) 17
4y 21

Correct Answer: 17



QID : 138 - Why does a black board appears black in colour?

T TGMUS 1 H Sial ol feErs &dl 87

Options:

1) It reflects black colour
dg PIal ¥ Uidfdfad &ar g
2) It absorbs black colour
gg HIdl W a2fvd &dl o
3) It reflects all colours

g8 T 1 ufafdfed oar g
4) It absorbs all the colours
g8 9N W aitd &Il g

Correct Answer: It absorbs all the colours

dg 9N T G9ied Hdl o




QID : 1449 - Who discovered X-rays?

» Tde=or @ =gt e o1 202

O ptions:

1) W. C. Roentgen
Secd. Tl Ieei
2 Albert Einstein

Hoedo HSCI

2) Samuel Cohen

THUT S e

4y Edward Tavlor
T=Sds ool
Correct Answer: W. C. Roentgen

Secy. . ITeei




QID : 37 - Meter in a vehicle that calculates distance covered by the vehicle is called __

AR T T gRI T B T Gl DI AT g 99 @l ol g

Options:
1) Speedometer

GIRHI
2) Odometer

gyt

3) Thermometer

UHIHIER

4) Kilometre

faHIeR

Correct Answer: QOdometer

gyt




QID : 38 - What is the SI unit of pressure?

&9 & T3S HAd bl o] bed o?

Options:
1) Newton

=]
2) Weber

GISE
2) Pascal

OI<d <l
4 Henry

kil

Correct Answer: Pascal
Ui+dh ¢l




QITD : 44 - Who invented bluetooth™?

ecic2l b1 Hifdeak 12 oo fasare

O ptions:

1) Kirkpatrick Macmillam
fepopafcas IO faa—T

2 Benjdamin Franklinm
=SS T ae ol

=2 Dr. Jaap Haartsen

=I. HIg SToal—

<)y Charles Babbage

=TTET sl

Correct Answer: Dr. Jaap Haartsen

S1. 91T 8T



QID : 137 - Reflection from a smooth surface like that of a mirror is called reflection.

U oY (9o 0§ U 8H a1 WA &1 TIda dgd g

Options:
1) reqular
BUili!

2) irreqular
i
3) diffused
fqaid

4) fused
I

Correct Answer: reqular

EUI




QID : 138 - What is the unit of resistance?

UicRTe &1 AT DI Sy ol ©7

Options:
1) ohm

3HTeT

2) farad
HisS

3) henry

Rl

4) weber
del

Correct Answer: ohm

3TeT



QID : 144 - Who invented the vacuum pump?

Aata 4o =1 anfaser g faeare
Options:

11 Otto von Guericke

HIl di Tifea

2) Cai Lun

Grilskl
3) Melitta Benit=z

HelteT d—oal
4) William Henry Fox Talbot

faferas &3 e cadic
Correct Answer: Otto von Guericke

Higl 919 Tk



QID : 37 - What is the other name of Galileo's law of falling bodies?

fefiferat & fied el & Aaw &t 3k fhg = | =T Srar 82

Options:

1) Law of motion

fd a1 Fae

2) Newton's first law
=g ehl dgdl HaH

3) Newton's second law
=g ehl e [Aan

4) Newton's third law
=g ehl drEr Faa

Correct Answer: Newton's first law

=g ehl dgdl HaH




QID : 38 - Which of the following device is best suited for measuring the temperature inside metallurgical furnaces?

RFfeiREd H 8 i 1 9 47 120 o 3 & O &l AT d el e e 7

Options:
1) Pyrometer

UESLI

2) Thermocouple

iR

3) Thermometer

YA

4) Thermistor
ufifee

Correct Answer: Pyrometer

UERLI



QID : 132 - Gravitational force is maximum at which of the following place?

feir=feii@d & & g FoIrel 9T TocATehyoT Jef el 3iTeih §7?
Options:

1) At equator

HACT @I I

2) At tropic of cancer

Theh 1@T 9T

3) At tropic of Capricorn
Hehd 1@T 93

4) At poles

I 3@ T

Correct Answer: At poles
e 1@ 9



QID : 133 - Which of the following device is used to measure humidity?

feiEATelTEd A 9 it @ T 1 9II9T G 1 A & [T f&har Srdr g2

Options:
1) Hydrometer

Gdtelcd AT
2) Hygrometer

Mg rATd

3) Psycho Meter
HATHIAATIT

4) Anemometer

el ITATYT

Correct Answer: Hygrometer

TG ATATdY



QID : 137 - Which of the following is not a vector quantity?

TFaATeliaa & & shlst v Hicer ArEr =387 672

O ptions:
1) Momentumm

T 2T

2) Displacemeaent

ICEE= 1 Cal

32 Torgue
TITELOT (Tl<h)
40 Spead
arfer

Correct Answer: Spead

arfer



QID : 138 - At what temperature (in Fahrenheit) pure water freezes?

[ STel fohd TTIATST (PRgISe ) T ST Sl 67

Options:
1) 32

2) 0
3) 48

4) 37
Correct Answer: 32



QID : 141 - Which of the following metal (shown by its symbol) is generally used for making filaments of bulb?

TelFateitad A 8 e € e (379 foget G aran) &1 QeAledl: T &1 o] 71 ThelAe deflel # J920T g1 §7

O ptions:
1) Fe

27 An
3D Ag

- IR
Correct AAanswer: W



QID = 1434 - Who invented Dynamite?

SiSATHI=c o0 ATasahit TS =17
O ptions:

1) J B Dunlop

=1 =T SS9

2 Alfred MNobel

IHoh = Al ol

=) James Simons

= TaAT—

47 Peter Hargreawves

gt grfLdilieat

Correct Answvwer: Alfred Nobel
IHowh s Alslol



QID : 237 - Which of the following is not a vector quantity?

fPrafaf@a 3 @ &9 e gl amn 987 27

Options:
1) Acceleration
oo 0]

2) Electric current
ferega emn

3) Force

Eh|

4) Velocity
e

Correct Answer: Electric current

ferega amn



QID ; 238 - The phenomena of raising the outer edge of the curved roads above the inner edge to provide necessary centripetal force to the vehicles to take a safe
turnis called ___

g g R e e 2 e T 7 e e S i

Options:

1) banking of roads

e (1 4 )
2) comering of roads
SERIET

3) elevation of roads
5T 8 ST &

4) tempering of roads

Correct Answer; banking of roads

] G (¥ i )



QID : 37 - The bending of light when it passes around a cormner or a slit is due to .

T T T feret Y a1 Terell GO @ el &, ot I dofg & dfehd &1 ATl ol
Options:
1) reflection

RIGICES
2) refraction

ERGRES

3) diffraction

feaca

4) total internal reflection

Erﬂ‘r Wiai® giafae
Correct Answer: diffraction

faade



QID : 38 - What is the reason for formation of Mirage in desert?

HEEW # FAINTHT AT HIGSOT deded ol HET SHOT 47 &7

Options:

1) Refraction of light

YERTeT T HOdo=T

2) Reflection of light

qohrel ol 9iciasd

3) Total internal reflection of light

JeRT &1 99T Hid e Jicfaea

4) Both Refraction and Total internal reflection of light
QeI ST 3(9dcl=] ol o7 Hidie Siaias giat

Correct Answer: Both Refraction and Total internal reflection of light
YeRTel &1 3H9doi= T o7 Hiafis giafasra giar



QI = 423 - Who discovered telewvision™

e Ta=T=a o1 STrTasasTr1 TSa=a TS=ar =ar?

Oy tiomns:

1) Micha<sl Faradawy
HISsThod il

2 Josephh Henrmy
HAEITS e=dir

= Abbe Caselli
3=l ShITITell

“47% Johmn Baird

Sl el

Correct Aanswvwer: Jobhmm Baird

==T ar=a=




QID : 137 - Itis difficult to fix a nail on a freely suspended wooden frame. Which law supports this statement?

Wl €U 8 dfcch gl Al oh Ueh gl A chict Slehll i gidT g1 i &1 [0 38 62 & GHH & 87

Options:

1) Law of inertia

oIl & |

2) Newton's second law
Y& I §E A

3) Newton's third law
Y& @l e A

4) Pascal's law

Ultehel & Aan

Correct Answer: Newton's third law

Y& I TR A



QID : 138 - Which one of the following is not a property of electromagnetic waves?

R & & a1 R gradia il o o 78 22
Options:
1) Electromagnetic waves do not show interference and diffraction.
ﬁqﬁr T ] fdaeol a1 faad et e 81
2) Oscillating electric field and magnetic field are perpendicular to each other.
ﬁaﬁﬂﬂﬂﬂﬁiﬁﬁ&hﬁ@%mﬁﬂ%
3) Electromagnetic waves are transverse waves

ﬁqﬁ@a‘cﬁumﬂm@wmﬁﬁﬁﬁl

4) Electromagnetic waves do not require a medium to propagate.

forerd grarchta at et 3l dg o oty fehelt e el afrasuehal 9gl gl

Correct Answer: Electromagnetic waves do not show interference and diffraction.

e Prardhty a¥il afaentor qen faad= 7@t feardt 8



QID : 237 - Convex mirror is generally used in

A 3dcl GUUT @l WART H giar g
Options:
1) solar cookers

I el

2) opthalmoscope

EE|
3) reflector for head light

U &l Ufdeas

4) rear view mirror
gee=if gdor

Correct Answer: rear view mirror

gee=if gdur



QID : 238 - What is the SI unit of frequency?

Options:
1) Newton
e

2) Watt

[= | [=]

2) Farad

4) Hertz
gowl

Correct Answer: Hertz

CES



QID : 37 - Speed of light is maximum in

o gerter <ht i Tatiaas 21

Options:
1) vacuum

Fara

2) solids
%n—mﬂ
3) liquids
o<t geref

4) gases

LiE=]

Correct Answer: vacuurm

Farta



QID : 38 - What is the S| unit of electric current?

Options:
1) Newton

e
2) Joule

e
3) Ampere
TR

4) Watt
die

Correct Answer: Ampere

Ripssirar



Pressure : Barometer : : 7 : Odometer

Freafef@a v d Ry o Recal d & g&€fda ar=s &t gfAa)
19 : FrgETraETdy - ? ;- Hieardt

Options:
1) Humidity
ST

2) Distance

&

3) Thickness

Hterd
4) Wind
arg

Correct Answer: Distance

Al



QID : 137 - If objects appear enlarged and inverted in a rear view mirror, then which type of mirror is used?

afe, U353 ¢ et cUon A gy et e Feich s el o, it Fer s < o et st fen o 2

Options:
1) Concave
Hddel

2) Convex
Jel

3) Cylindrical
R

4) Plane
et

Correct Answer: Concave
Jdde



QID : 138 - Soap bubble attains spherical shape due to
<h SHIRUT TTIeTehTR UTW &3 ofdl g

HT i FeTaedl

Options:

1) inertia

ulged

2) pressure

HE]

3) surface tension
U8 d41d

4) Viscosity
ATAAT

Correct Answer: surface tension
8 d41g



QID : 237 - Why does water tank appear shallower when viewed from the top?

FUL T ¢Wel T UTeAT T &b 3206l 41 [G@s &ar g?

Options:
1) Due to reflection

gfdfad & sRoT
2) Due to refraction

H9ade & HROT
3) Due to diffraction

faaae & sroT

4) Due to total internal reflection
el TR Fidfe & HRoT
Correct Answer: Due to refraction

HIdde & FROT



QID : 238 - Which colour is formed when Red and Green are mixed?

el T2 g3 331 & 307 & i a1 o1 9reg grar g2

O ptions:

1) Light blue
Sl =ITciT
2 YYellows
grAT

=2 White
Srs e |

A7) Srey
HeoleT

Correct Answvwer: vellows

grAaT



QID : 37 - At which of the following place, weight of an object is maximum?

Faffad o 9 fo9 i W 16 3% &1 YR 9aiids gidl 62

Options:

1) At poles

§q 3T

2) At equator

AT I

3) At tropic of Capricorn
D 3l

4) At tropic of cancer

®h ¥l

Correct Answer: At poles

gq 3@



QID : 38 - What is the SI unit of temperature?

Options:
1) Kelvin
Hfea—

2) Joule

3) Celsius

Ofeaag

4) Fahrenheit

Correct Answer: Kelvin

hfca—



QID : 137 - Electric Motor converts ____ energy to mechanical energy

R Hiex __ it ey 3ot & aewr &

Options:
1) sound

@

2) mechanical
TqifAeh
3) chemical

wrafa

4) electrical

fagd

Correct Answer: electrical

fagd



QID : 138 - Optical fibre works on which of the following principle of light?

ety d= Fefefaa # & ven & o Rigia o &/ & 87

Options:
1) Reflection
BLERE|

2) Refraction

CLEEE

3) Diffraction

fergcH

4) Total internal reflection

quf 3iT<1Ren wrdd

Correct Answer: Total internal reflection

oo SR R




QID : 201 - In the following question, select the related word from the given alternatives.

Ampere : Electric current : : Fathom : ?
frfoiRaa e # By ¢ fesedi § <1 wHEfe o= =1 gy |
m:ﬂmm::m: B

Options:

1) Depth of Water
STl i TTExTs

2) Frequency

3) Sound level
e TR

4) Work or energy
T AT ol

Correct Answer: Depth of Water
STl i TTExTs




QID : 237 - Which among the following determines the pitch of a sound?

Py 3 9 it <R () 1 2 R e 2
Options:

1) Amplitude

STEH

2) Frequency

3) Loudness

TREAdT
4) Wavelength

NEUCL|

Correct Answer: Frequency

s



QID : 238 - Which phenomena shows the particle nature of light?

I i HeAT QEhTel &t 0T YR ol Skt 22

Options:
1) Diffraction
feae=

2) Interference

HiciepRoT

3) Photoelectric effect

URFIEIE qTdE

4) Polarisation

HHATh R

Correct Answer: Photoelectric effect

qRFIEIE qedE



QID : 37 - What is the SI unit of intensity of sound?

Options:
1) Decible

]

2) Newton
= o

32) Heartz

Bool

4 Tesla
SEET

Correct Answer: Decible

HE:E ]



QID : 38 - Which colour is formed when Blue and Green are mixed?

siTel 2T §Y 13T o 74707 I ohisT a1 {1 9red glar g2
Options:

1) Cyan

BRI

2) Brown

L)

3) Black

lell

4) Violet

et

Correct Answer: Cyan

o=



QID : 137 - When a ball is thrown vertically upwards, which of the following quantities remains constant during its motion?

U 3¢ il S & I e oflel T IGHT TTel & G067 [oldaticiic] & J aplet-t silfcien AT 377 TGl 87

Options:

1) Energy

30l

2) Displacement
et

3) Velocity

ad

4) Acceleration
T

Correct Answer: Energy

3l



QID : 128 - What is the SI unit of heat energy?

Options:
1) Joule
sTet

2) Newton
s (e

3) Calorie
Ca=IEll

4 Kelwvin
ShiodeT

Correct Answer: Joule
ool

T



QID : 237 - For which of the following game, players must have the knowledge of Pascal's law?

Fafofad & 3 fow wa o fedfeal & o uRed & FHaw &1 9 gH1 Hees ¢

Options:
1) Climbing

TR

2) Paragliding

3) Rafting
e

4) Scuba diving
T BRI

Correct Answer: Scuba diving

T SR



QID : 238 - What is the value of the Least Distance of Distinct vision (in cm) for @ normal human being?

U WA A d ot e &fp ot e g (9., ) fef gt 22

Options:
1)25
2) 25
3) 58
4) 60

Correct Answer: 25



QID : 244 - Who invented the Centigrade scale?

RIS AT (Thd) &I HMTASHRD BT o7

Options:

1) Anders Celsius

=4 dicaad

2) Daniel Gabriel Fahrenheit
%ﬁtﬁr Tifegd BRAgEe

3) William Thomson

faferas urae=

4) Wright Brothers

I3 FGH

Correct Answer: Anders Celsius

=4 Ofcaag




QID : 37 - On which principle does the hydraulic lift works?

gadiield Toige = MaETad 9 ST SFdl g ?
Options:

1) Newton's law

=geel & Haia

2) Pascal's law

qrEehel o TEId

3) Archimedes's law

MRATET F Aga

4 Joule's law

STel = Taaia

Correct Answer: Pascal's law

qi&hol o Aaida



QID: 38 - At what temperature (in degree celsius), the numerical values on Celsius and Fahrenheit scales become equal?

Ty T (FSeh Aoy &) O Qe e TReTgiSc Wbl TR 30 A 90T 1 o7 7

Options:
1)-40

)40
373

4)-273
Correct Answer: 4(



QID : 44 - Who developed the theory of relativity?

HATIETAT =T THaETa TFO=T T9=ssTaa =T ar?
Options:

1) Issac MNewton

TSk =l

2) Charles Darwin

=i SITA=T

32) Marie Curie

T =T

4 Albert Einstein

Hodo HISICI=T




OQID : 136 - What 1s the SI unit of Power?

Fosll ol T 2As SATaia 49T & 7
O ptions:

1) Bovle

CIEP Lo N

2 Watt

=1 o

=2) Newton

— ==
4y Pascal
T

Correct Answer: Watt

=1 =



QID : 137 - If the orbit of a planet is an ellipse then what is the point at which the Sun is located called?

e 75 PI e g ¢ dl a6 TG for W B 8, 9 Feei o7

Options:
1) Centre

b5

2) Grcumcentre

LIRES
3) Incentre

SIRETA

4) Focus
hlhg

Correct Answer: Focus

LG



QID : 138 - The sliding friction is than the static friction.

quf auul, Rfds 8Ty giar gl

Options:
1) double
2) same

LG AGAR
3) greater

3Hith
4) smaller
&H

Correct Answer: smaller
H



QID:139- optical data storage is a technology where data is stored in multiple layers in the optical disc.

3 e S U e 8, o STl 6 Ay [ W @S U A Hed 1 ol 2|
Options:
1)3D

2) 30D
3) 300D

4) 30000

Correct Answer: 3D



QID : 140 - Kelvin (K) is the unit of measurement of

fea (K) AU & 3HTs B
Options:

1) Density

H-cd

2) Pressure

Gld
3) Mass

odH A
4) Temperature

dIUHH

Correct Answer: Temperature
dldHH




QID:142- acts as a shield absorbing ultraviolet radiation from the sun.

T e ar TIeTH fafd (sreearce FSueH) & aiftd $X ard $ad & 3 B ¢

Options:
i)ﬂ(ahlnrq*ﬂuc}!marbons
ENINRNUEAEE
2) Stratosphere
?anamﬂsﬂ

3) Ozone hole

aﬂﬁiﬁﬁéﬁ

4) Greenhouse
DIERRE

Correct Answer: Stratosphere
HHATHS




QID : 237 - In science a push or pull of an object is called

faram & foneft aeg oz siffador an sraaedor &6t ___ g €1
Options:

1) Pick

g1

2) Lift

EHIGI

3) Force

ool

4) Shut

g

Correct Answer: Force
&



QID : 244 - Who discovered the colour photography?

it Rictars bt @ tst e &hi?
Options:

1 :: Robert Noyce
SIEES]

2) Enrico Fermi

gafeent T
!I John LDQIE Baird

4) James Clerk Maxwell

ST aFcTeh Seradd

Correct Answer: James Clerk Maxwell

ST SeiTeh Saradet



QID : 37 - In a gualitative way, the tendency of undisturbed objects to stay at rest or to keep moving with the same velocity is calle

oD ¥4 H {hdl a5 o fammaw § 384 a1 §9H a7 9 Tidiie Y84 &f Ugid @ Hed ol

Options:

1) force

C|

2) acceleration
[GRl|

3) friction
0T

4) inertia
ulsdd

Correct Answer: inertia
ulsd



QID : 38 - The time taken by a pendulum to complete one oscillation is called its?

W Ardd U Gie QR B3 § fofd=1 §HT oRIal & 39 WA diad &1 ol Sgd g2
Options:
1) Maximum speed
dlcd

2) Average speed

dlci
3) Time period
3ad B
4) Time interval
Y {1
Correct Answer: Time period

3ad &I



QID : 44 - Who invented the electric tram?

Scifded oI &I JHTidshR fdba- faar
Options:

1) James Cook

o $F

2) William Harvey

faferr gra

3) Fyodor Pirotsky

iR ftRIdws!

4) Robert Boyles

ac e

Correct Answer: Fyodor Pirotsky
HeR ftRidw!



QID : 137 - If the speed of an object moving along a straight line is constant, its motion is said to be

a1 o7l TR 0 & S T e el 9 @) 910 R Gl ¢ Al S T DI TPl Fgl Il ¢l

Options:

1) Uniform
THAH

2) Periodic
1t

3) Circular
qdldR

4) Non-uniform
HEHH

Correct Answer: Uniform

U HH




QID : 138 - The strength of a force is usually expressed by its

9 $1 Ugddl U: 3 I grdt STt B
Options:

1) Motion

Tid

2) Direction

fe=m

3) Interaction

=g foean
4) Maanitude
gieATT

Correct Answer: Magnitude
qiRaT




QID : 144 - Who discovered Proton?

Oici—T ot " e @iz

O ptions:
1) BErmest Rutherford

3HA%iC I mis
2 Friedrich Miescher

Thasitvdar fEr=me

2) Henri Becguerel

o<l "ddhIcl

4 Henrmy Cavendish

o<l chdi-==1

Correct Answer: BErnest Rutherford

HA%C TeIhmis




QD : 237 - If the mass of an object is 60 kgs, what will be its weight on the moon? (N=Newton)

e, ot e & T 60 fercft § ot e R e o n gi? (N=gee)

Options:
1) 60N

2) 600N
3) 100N

4) 10N
Correct Answer: 100N



QID : 238 - The side mirrors of vehicles are of which type of mirrors?

argHl & uref gt (arge fAwR) # foveg uar & adur & guat favar e 82

Options:
1) Convex
Jdel

2) Concave
el

3) Plane
HHdel

4) Inverted
Jed]

Correct Answer: Convex
3ol



QID : 37 - In the formula average velocity = (u + v) /2, u is the

I ITTHF G = (u+v) /2, Hu gl
Options:

1) Final velocity
Sifae a1

2) Initial displacement

TR =T
3) Initial velocity

4) Final displacement
sifad fa=m=
Correct Answer: Initial velocity

ORIYE 971



QID : 137 - If the speed of an abject moving along a straight line keeps changing, its motion is said to be

af ol W T & S T et el 9% @) 1 UNateld Bl WGl ¢ A1 S A Bl A Bl gl ol
Options:

1) Uniform

THYHH

2) Periodic

et

3) Circular

gdldR

4) Non-uniform

HEHH

Correct Answer: Non-uniform
S



QID : 138 - The substances which reduce friction are called

tdug S adu FH HIT S Hodid ol

Options:

1) irregularities
Sff-afaaan

2) lubricants
Hedh

3) adhesives
3RwIh

4) viscous

feratfrar

Correct Answer: lubricants

Heh



QID : 237 - If the force applied on the object is in the direction opposite to the direction of motion, the speed of the object

i, e e R e 7 e o o g b rf o el R o it @ e b rfa

Options:

1) increases
Tt 8

2) stops

& Wl ¢

3) decreases
gl 8

4) no effect

[T ol

Correct Answer: decreases

& gl 8




QID : 238 - The S| unit of acceleration is

TTUT &R TH 3T HTA<h _ el

Options:

1) meters per seconds squared
Hrex ufa HepUus

2) meters per second

Hrez ufa d=po=

3) seconds per meter

Tehos gfa Hre=

4) seconds per meter squared

Teh= Ofa a7t Hire=

Correct Answer: meters per seconds squared

Hres ufa a1t 9=sv=s



QID : 37 - Contact force is another name for

OOds ool o1 g Hf a1 A1a1 2 |

O ptions:

1) Friction

O]

2) Magnetic force

I h g ]
3) Electrostatic force

f&r 9gga a4

4% Muscular force

=g "o

Correct Answer: Muscular force

=i aa




QID : 38 - The force of friction between two surfaces will increase if:

Gl gdel & g a7+ il 980 9d dedl § Jia:

Options:

1} a layer of lubricant is kept between the two surfaces
5? g Hgd &1 O3d ol g

2} thre- two surfaces are pressed harder

g gEf T Saqd® Garal =g

3) air gap is created between the two surfaces

Sl gEi & aig gal &1 Had 3@l =l

4% irregularities on both the surfaces are removed

S Oasl &1 Hafadar &1 geT fear 9

Correct Answer: the two surfaces are pressed harder

SHI Bl &1 dciydd aardl =g




QID : 137 - An image formed by a plane mirror, that cannot be obtained on a screen is called

JUad UV gRT & aTet g Wiafes 1 URe W W e foban o T, % 9 e &7

Options:

1) Virtual image
Ayt gfcfed

2) Real image
e Tidfdd
3) Inverted image
GEARIGIEE]

4) Erect image

e vidfes

Correct Answer: Virtual image

& I RIIEE



QID : 138 - The force exerted by a magnet is an example of

9@ gRI A T dd _ @1 T a6 ¢
Options:

1) Non-contact force

TS Fd

2) Muscular force

o3fta Tq

3) Contact force

Tud ad

4) Electrostatic force

far Jegqo @a

Correct Answer: Non-contact force

2T a9



QID : 237 - According to the Second Law of Motion, for a given force, acceleration is inversely proportional to the of an object.

Mdd e AT & o R, fedi fGuguaa & i@ ag & & SIh AT BT 8

Options:
1) density
Y-cd

2) volume
HOIA

3) force
aq

4) mass
SodHIH

Correct Answer: mass
FEIIGH



QID : 238 - The coil wire in the electric room heater or electric cooking heater is called

SR B TH T@ A1 W IhH § S g1H ard fagad aue | 9Ri @t ol dedl gidl 3 39 Hed g

Options:
1) Circuit

:

2) Element

]

3) Filament

£ &l

) Cells

i

Correct Answer: Element

-



QID : 37 - Energy in the form of heat is wasted when a machine is operated. This heat is generated due to

T g T R T YT ) &, Y EIST & ST FOAT A% 21 i 1 g IS & 0T 3c0eet 2l

Options:

1) burning
alofedl

2) friction

YT

3) combustion

Gl
4) lubrication

ICElge

Correct Answer: friction

ELLl



QID : 38 - The incident ray, the

at the point of incidence and the reflected ray all lie in the same plane.

3t fareor, et fdg W 31N st fbor i W et 1 gl €|

Options:

1) surface
L)

L&

2) tangent
g
3) normal

PRI

4) angle of reflection

T HIT

Correct Answer: normal

PR



QID : 137 - During uniform motion of an object along a straight line, the remains constant with time.

forelt e bt e e Yl i dh e, s A Fgd gl

Options:

1) Time

LEp

2) Velocity

am

3) Acceleration
LUl

4) Distance
Al
Correct Answer: Velocity

an



QID : 138 - The impression of an image persists on the retina for about of a second.

M R a2 vfafda &1 werra amm ___ davg aa a1 |l Bl

Options:
1) 1/10th
17104
2) 1/8th
1/8d

3) 1/16th
17164
4) 1/5th
1/5di

Correct Answer: 1/16th
1164




QID : 144 - Who discovered Electron?

Fotae i bl F=raT Eha= <hr?

Options:

1) Enrico Fermi
waReRt et

2) Robert Noyce
e A

3) J.J. Thomson
=t St AT

4) James Dyson
S ST

Correct Answer: J.J. Thomson
= S =T



QID : 237 - An image formed by a concave mirror on a screen is called

3radel SUUr g1 94 U g4 aret ufafda &t aar ewer sirar 82

Options:

1) Virtual image
Tt ufdferer

2) Real image
aredfdes ufafda

3) Inverted image
REARCIGIEE]

4) Erect image
Hter ufafere

Correct Answer: Real image

aredfaes ufdfee




QID : 238 - The distance-time graph for the motion of an object moving with a constant speed s a

[ el @ il ahed areft a%] el &2t WU I U ____ gl g
Options:

%Dm

2) Circle

qd

3) Straight Line
el

4) Curve
deh

Correct Answer: Straight Line
el




QID : 37 - If an object moves in a circular path with uniform . its motion is called uniform circular motion.

9N IS T GG TY W THEAE 3 Torelt & Y ST 1Y P werwee el a1t T e B

Options:
1) speed
dlel

2) Time
qHY

3) Velocity
4

4) Acceleration
o

Correct Answer: speed
dTel



QID : 38 - The reflection formed by the plane mirror is

AT cUUT §HT dei<t arelr ufdfda _ giar &l

Options:

1) vertical inversion
saag-afad

2) a real image
ardtaes uiafea

3) lateral inversion
urAT-afad=

4) an enlarged image

g=T uidfea

Correct Answer: lateral inversion

arAT-aiada




QID : 137 - Convex and concave mirrors are examples of?

3cdd 3T Jade g9t fhds 3ETEI0T 82

Options:

1) Plane mirrors
HHI gUuT

2) Spherical mirrors
e gqur

3) Inverted mirror
Feel g9UT

4) Erect mirror

drerr gqor

Correct Answer: Spherical mirrors

arelr gqor



QID : 138 - The frictional force exerted by fluids is also called

ALl G@NT TRIT 31T 99T 561 I ___ Fgd g
Options:

1) drag

FYOT

2) buoyancy

IcCelldahdl

3) upthrust

3caig

4) convection
qagel
Correct Answer: drag

YT



QID : 237 - If the force applied on the object is in the direction of its motion, the speed of the object

I TRl I I ST IT ol a5 A afd P e Agrar arg Frafd |

Options:
1) increases

Tedl &
2) stops
% AT &

3) decreases

HHGIA &

4) no effect
FIS AT g1

Correct Answer: increases

dedl g



QID : 37 - Friction is caused by the on the two surfaces in contact.

ETOT T 3 371 Aot & I5OT Y 3 FROT Rl
Options:

1) irregularities

sifatadaanstt

2) smoothness

[EE TS

3) densities

Hacd

4) gaps

FHadrer

Correct Answer: irregularities

it a@Adant



QID : 38 - The motion of a freely falling body is an example of motion.

T § Y I @ @ aeq dafd a1 &1 e g
Options:
1) uniformly accelerated

THEHN caild
2) non-uniformly accelerated

3TAR caild

3) constant velocity

e aa
4) constant speed
IS

Correct Answer: uniformly accelerated
UhEH cdlld



QID : 137 - A ball rolling along the ground gradually slows down and finally comes to rest is due to

_ O PRI R Q- it g o R i 8 ol § 3R o § v ot 3

O ptions:
1) Fricton

2) Magnetic force
N

32) Electorostatic force

=~ a=a s

24} Muscular force

o= et

Correct Answvwer: Friction

o




QID : 138 - The angle between the and the incident ray is called the angle of incidence.

R Mfd o0 & i o S0 B S DI $gdl 3|
Options:
1) surface

gL

2) normal

a{ﬁmﬁ
3) tangent

IR

4) reflected ray

uﬂaﬁaﬁﬂw

Correct Answer: normal

e




QID : 144 - Who invented the thermos flask?

UHY UERd & -HifashR foea fasare
Options:

1) Ray Tomlinson

Y eiafeaa

2) Tim Bemers-Lee

feq g <it

3) William Cullen

faferas oo

4) James Dewar

SR Gidie

Correct Answer: James Dewar

SR Gidie



QID : 237 - For an object, the state of rest is considered to be the state of speed.

feeft e et ferr Saer ahl ___ d7et <ht e /1T ST 81
Options:

1) increasing

g g

2) decreasing

&H Bidl 83

3) inverse

i

) zero

"

Correct Answer: zero

"



QID : 238 - The laws which govern the motion of planets are called _

Tl & 7fa &t gar arst Rl st e Siran 8|

Options:

1) Newton's Laws
e o fAaH

2) Kepler's Laws

el & fAgH

3) Avogadro's Laws

3ratmel < g

4) De Morgan's Laws

& |7 & fRgw

Correct Answer: Kepler's Laws

el & fAgH



